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Econ 232

Handout Chapters 12-13: Monopolistic Competition and Oligopoly (Imperfect Competition)
Imperfect Competition: market structures which fall between perfect competition and monopoly because they have more than one seller but violate some of the principles of perfect competition.

· Monopolistic competition

· Oligopoly

Monopolistic Competition: most common industry structure
Ex: clothing, cosmetics, electronics, financial services, insurance, restaurants, etc.
1. many sellers (very competitive like perfect competition)
2. differentiated product

a.  
b. consumers see similarities in products so there is competition but each product is different and therefore consumers may be willing to pay a premium.
c.   
3. no significant barriers to entry (some patents but nothing too restrictive)

4. some market power due to differentiated products  

____________________:firms attempt to determine their own profit maximizing price based on their products’ specific demand.
Implications:

1. Each specific firm’s demand curve is downward sloping

a. Each firm must determine its own price and quantity combination knowing there’s an inverse relationship between these two factors like monopoly. 
2. A market or industry demand curve is not very informative. It would be downward sloping say for “all athletic shoes” but you are adding together very different products: e.g. Nike, Adidas, etc. For practical purposes we’ll say there is no industry demand curve.

3. MR<P for same reason as monopoly

a. separate demand and MR curve that looks just like monopoly. Remember MR < P because if the firm wants to increase sales it must lower the price on all units so that they gain revenue from new customers but lose revenue from existing customers that now get the benefit of the lower price.

b. remember, if they increase price, then they will lose some sales (decrease quantity demanded in accordance with the law of demand), but not all sales will be lost as was the case in perfect competition.

4. each firm may choose both P and Q: each firm maximizes profit by operating where MR=MC and selects the highest price consumers will pay off the demand curve (like monopoly).
a. Compared to perfect competition: 
b. Compared to monopoly:
5. in short run  they can earn profits, breakeven, losses (like perfect competition and monopoly) and they use same shutdown rule as others (like perfect competition and monopoly)
6. in the long run they will breakeven like perfect competition since no barriers to entry.

a. long run breakeven results from profitable companies being imitated so that over time little differences persist in a given product line.

b. Need for constant innovation and new product development to continually make short run profits
i. Ex fast food (chicken, then salads, now choose your sides, etc).

ii. Ex. soda (caffeine free, diet, uses splenda, etc).

7. these firms are inefficient P>MC  (like monopoly)

a.    with market power they will charge a price above MC and therefore fall short of the efficiency condition P=MC
b. they are not as inefficient as monopoly since there are substitutes and hence competition   

c. These firms are rarely regulated because the efficiency loss is small and consumers receive the benefit of product variety.
8. largest role for advertising to differentiate your product to allow the firm to build up a loyal following that will pay higher prices for their particular product.

Oligopoly examples include: car manufacturing (Ford, GM, Toyota), airplane manufacturing (Boeing vs. Airbus); network television (CBS, ABC, NBC, FOX) 
Characteristics:

1. few firms or sellers in the market (there tend to be several large firms in the market)

2. identical or differentiated products 
examples:
3. significant barriers to entry
typically:   
4. significant market power: 
5. mutual interdependence (or strategic interdependence): each firm’s pricing and output strategy affects the decisions of other firms. Must use a special tool (game theory) to evaluate profits, losses, pricing etc.   

Implications:

1. We won’t evaluate individual demand curves since firms are considered “mutually interdependent”-- one’s price depends on the price of another firm which doesn’t result in a standard demand curve

2. No industry demand curve (same reasoning as monopolistic competition)
3. No evaluation of P vs. MR—since the price one firm charges depends on the price of the other firms and there’s no consistent notion of demand we can’t evaluate the relationship between demand (or price) and marginal revenue.
4. max profit by using GAME THEORY—can’t use MR=MC since there’s no standard MR curve. 
5. may  earn profits, losses, breakeven in short run; use same shutdown rule as others

6. may earn profits or breakeven in long run since there are significant barriers to entry

7. there is a role for advertising among differentiated products

8. inefficient since firms have market power they will charge a price greater than marginal cost: P>MC

9. These firms are either “price leaders” or “price followers” engaging in a price strategy referred to as price leadership: one dominant firm sets a price and other firms “follow” their lead by matching their price exactly or within some boundary around the price leader’s price.
